g 2

S f1 4 £

INL T BB

Tz FE

(% 2 5)

= JEJOR



i
=
H
s
i
M

ES i %= 1 1
Wi OIE T OB % 2
5 3 4
w2 H W (F2H5&R)
£ #H =
74mﬁmm %%ﬁm*m@—ﬂéﬁmﬁé*m®ﬁmuow
HE%E%

15 w4 FEE NI —fRaFHMIETRE (% 3 %)
16 F4EENEHKEEESFFMETRE (582 %)




—~ |

-

1

2

UE
HMEHT AR
T K S S K G O — 8 & B T B 4 00 i 1S o
T

SMAETHAHPGRIEL 2 A F TCOREFICE ST S KRER S D
HEABA&X, OHET 5,
COXFIET. AAOR NS HATT D,




MiIE TR R

MiIEPHEE O (¥ fr FHM)
= at il MIERT O R | M E #H t
— it = 7t 59, 424, 200 377,034 59, 801, 234
= 7 59, 424, 200 377,034 59, 801, 234
KEFEHESE
I 28 AU AN K O 3 Y (¥ fr FHM)
X SIBE R T oE BIM O E T OE M il
oo s e A 2,997, 371 A31, 811 2, 965, 560
S A - O N S € & 2,827,601 Al14, 410 2,813, 191
(FEEHET7 5 %5)
T AFEE N - RSFMETHR (F3%5)
MiIETHOANE
m_A (¥ TM)
MIIERT O % | IE #H 3 £ O¥X % o @M =
B =m0 A L A RGeS BV RGR A 4
288, 000
59,424,200 | 377,034 | 59,801, 234 | BAEHECEL A A4 88, 690
GIESES % 53, 229
IREAGEEG RN /b2, 885
o (¥ {2 THM)
MIIERT O % |/ IE #H 3 £ O¥X % o @M =
ISEE = gy ek 321, 408
WEpPEIE G Ata e o 2 — S S 5
13, 779
59,424,200 | 377,034 | 59,801, 234 | BEFEIE (LEEAa it L & — S PR 3s)

22, 866

MibPEE (REEPRae it v 7 —EEhEE )

18, 981




4 /N KB ¥R

BT (2 5)

I 28 B I AN K O 32
w A (B iz TH)
BER 7 & %8 | W IE 7 € % 7t HzO¥X % o M =
TKIERHE A353, 219
2,997, 371 A31,811 2, 965, 560
—fREHEh A 321, 408
* W (HE fr TH)
BE 7 € KA | E 7 € KA &t HO¥X % o M =
b e e Yl HISYUEE v s 330
2, 827, 601 A4, 410 2,813, 191
THERL N O 7 Y e A4, 740




